Precalculus: 3.4 Miscellaneous Equations

Questions

Find all rcal and imaginary solutions for cach cquation.
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9. Will. Nanc. and Ed met at the lodge and went hiking. Will began hiking west at 4mph at 8am. At 10am, Nanc
began hiking north at 5mph. Ed went cast at 12mph, also leaving at 10am. At what time was the distance between
Nanc and Ed 14miles greater than the distance between Nanc and W ill? Just try to sct up the equation that would
need to be solved. It is a wacky looking cquation!
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Here is how the computer algebra system Mathematica can be used to solve the
equation:
Solve[Sqrt[(12x-24) "2+ (5x-10)"2] = Sqrt[(4x) "2+ (5x- 10) ~2] + 14, x]

{{x—>5}, {X—) é (53-+/1401 )}}

The second value is extraneous.

N[%]
({x>5.}, {x>0.243282}}



